Calculus | Homework #5 Section 3.1

16. (a) The sine and exponential functions have domain B, so g(t) = sin(e™") also has domain .

¢ function g{f) = /1 — 2¢ hasdomain {£ |1 —2° >0} = {t “Zlt=4{t t 20} ={—o0
{b) The funct (t) = /1 — 2" hasd L|1—2"=0 fl2t =1 Lt =0 0
2

18. Given the y=intercept (0, 2), we have y = C'a™ = 2a”. Using the point {2_. %} givesus 2 =20 = f=a" = a=3

[since a = 0]. The function s f{x) = 2{%]1 or f{z) = 2037,

19. 24t = 24 in, f(24) = 247 in = 576 in = 48 ft. g(24) = 221 in = 221 /{12 . 5280) mi = 265 mi

25. Divide numerator and denominator by £**: lim —— = lim = =
T —soaa f-!'i"r' -|— .|_'-:_'h' a—+oa | -I— f'._E'I 1 + 0
3. ) 2 . From the graph, it appears that f is an odd function (f 15 undefined for = = 0).
——_/ ﬂ;}:l—_ﬂg To prove this, we must show that f{—x) = — f{z).
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= _l +f‘:1-"ll'|: = _f[z}

So f 13 an odd function.
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